
®

Installation - Hapsburg Rectangular Table Set

670 Mercer Road • Butler, PA 16001-1840
Toll-free: 1-800-284-8208 • Phone: 724-284-1213 • Fax: 724-284-1253

www.keystoneridgedesigns.com© 2012 Keystone Ridge Designs, Inc.®  All Rights Reserved.

GENERAL INSTALLATION INSTRUCTIONS - Hapsburg Rectangular Table Set

PLEASE READ THESE STEPS BEFORE PROCEEDING

Included with your Hapsburg Rectangular Set is the following hardware:

   •  Thirty-two (32) 1/2” Stainless Steel Flat Washers
   •  Twelve (12) 1/2” Stainless Steel Nylon Lock Nuts
   •  Four (4) 1/2” x 4” Stainless Steel Hex Head Cap Screws
   •  Eight (8) 3/8” Stainless Steel Flat Washers
   •  Eight (8) 3/8” x 1” Stainless Steel Hex Head Cap Screws
   •  Sixteen (16) 1/2” x 1 1/2” Stainless Steel Hex Head Cap Screws

Please abide by the following installation instructions:

Brace: 
 1. Place seat brace on main table brace.  Making sure that the holes are aligned.
 2. Then place a 1/2” washer on a 1/2” x 4” cap screw and insert it through the holes in both braces.
 3. Place 1/2” washer over threaded end of cap screw, then add 1/2” nut. (Do not tighten on this step)

4”



®

Installation - Hapsburg Rectangular Table Set

670 Mercer Road • Butler, PA 16001-1840
Toll-free: 1-800-284-8208 • Phone: 724-284-1213 • Fax: 724-284-1253

www.keystoneridgedesigns.com© 2012 Keystone Ridge Designs, Inc.®  All Rights Reserved.

Table:
 1. Place tabletop on pedestal, aligning the coupling nuts on the underside of the tabletop with the holes on the 
  pedestal.
 2. Add 3/8” washer to 3/8” x 1” cap screw and insert up through the hole in the pedestal and into coupling nut. 
  Then tighten.

Seat:
 1. Place seat on top of pedestal, matching up holes. 
 2. Add 1/2” washer to 1/2” x 1 1/2” cap screw and insert through holes in seat and pedestal.
 3. Slide 1/2” washer over exposed threads and add 1/2” lock nut and tighten.


